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sok = 3
% nop = number of input; # of loop = # of input;
% i.e. prat+tand+bobby = 3
% If you change "nop" (input), tell me!!!!!l.
% sok = number of output
nop = 3;
rat = 0;
vmi = 0;
for pra = 1l:sok
for tand =\

for vﬂ- : '.'. !/-

a = pra; '—;__‘. d= e ;
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u = [_; ‘."-ﬂﬁ__:—t_—_‘:::! {u};
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fo

eg
omega = [ g
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rat = rat +J
vmi = vmi + (
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if oA FSPs z = z+41 ; end ;

1
prob = ra¥/ (sok“nop
loss = vmig ok*nop]
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TH3X3

Time alot Throughput
12 t1 Heal,a2 Heal,b2 Healc2 H~-0.3333
111-»333 111 0.444444 0.618619 0.5618619
111-»333 112 0.6861856 0.685185 0.685185
111-»333 113 0.686185 0.686186 0.885186
111-»333 121 0.685185 0.685186 0.685186
111->333 122 0.68107 0.68107 0.68107
111->333 123 0.861862 0.851862 0.851852
111->333 131 0.885185 185 0.685186
111->333 132 0.86186 0.861852
111-»333 133 0. 7 0.68107
0. 0.70278 702789222  0.700045704
Time alot 7/l | oug -
12 t1 » N 1,02,c2 H=0.6667
111-»>333 111 4 S O.6118 513189
111->333 112 = 879836
111-»333 113 0. N 9836
111->333 121 A \! 686186
111->333 122 0.861860, 0D 0.686185
111-»333 123 14620 _' 2 0861862
111->333 131 0.688185 — 0.685185
111->333 132 0.86186% 0.851862
111->333 133 0.886280 " § 0.685186
) A ¢ 0.6898704333
Time alot ) %’n
t2 t1 H-L-1 '
111-2338 1 0.434303 o/
111->333 o.67 ¥ N %117
111->333 gl "v “o.e7iass| = » ]
111->333 121 0.674485| ¢ o o/
111-333 1 ﬂ g
111--333 | . " "1z 861 v = Al
-
111->333 131 0.874485
111-»333 132 0.861862
111-»>333 133 0.674486
0.687213
Time slot Throughput
12 t1 H=0.3333 H=0.6667 HeL~1
111-»333 [111->133 0.7 0.8987 0.6872
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <time.h>
#define MaxLoop 10
#define xbuffer 10
#define MaxInput 3
##define MaxHigh 1
int 8,ip,hip,lip,xw;
int b[MaxInput] ,w[MaxInput
float th,thh,thl,lo, lgs

time t t; 7
#include "b:\nat:

int i,j.n:
ini(); clrsg
for (i=0; i<Ma
|

- axInput][xbufferI

p hop,lop;

insertb():
printf(" ins
for (j=0; 3¢
printf(" S%d
printf("\n");
sow(); getc o <
printf ([ g
delb(): ] -
printf( v
getch(): §
i

]
i = MaxLoop*Maxylpput;

EEHEE?WEIWIEWI?W BIN3

los= lo!:;

SR IR A Y

printf ("Output Low
printf("Lost
printf("Waiting time
printf ("Throughput
printf ("Throughput High
printf ("Throughput Low
printf("Prob Loss

printf ("Average waiting time
printf ("Average delay time
return 0;

honn

]

%5.0f\n",lop);
%5.0f\n",10);
%5.0f\n",wa):

%5.4f\n",th);
%5.4f\n",thh);
%5.4f\n",thl);
%5.4f\n",los) ;
%5.4f\n",wai);
%5.4f\n" ,wai+s);



int getout(int col) //
{

int i:
if (s[coll[0]) |
printf(" b(%d) = %d ",col+l,s[col][0]);
//output high and low
//output collum = col+l ; output data = s[col] [0]
(MaxInput ¢ s[col][0]) ? lop++: hop++;
op++;
for (i=0; i<xbuffet
if (!efcol] [i
s[ecoll il .
break;
!
s[col] [i]
s[col] [i+1
I

] else
printf ("Erfor
return 0;

I

o = %d\n",col+l):

AuEINENINeIns
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int delb()

|

int i,j.k,nh[MaxInput].nl[MaxInput],hno[MaxInput];
for (i=0; i<MaxInput; i++) |
nh[i] = nl[i] = no[i] = 0;
]
for (i=0; i<MaxInput; i++} |
if (MaxInput < s[i][0])
nl(s(i] [0])-MaxInput=-1]++;
else if (0 < s[i] [0 -
nh[s[1i] [0]=1]++ ;N

] B
for (i=0; i<MaxInpiitsc
if (nhlil) { e
if (nhli] !=2d=
nh[i) = rang
for (j=0; .4
if (s[3) 18
nh[i]
nol[j-1) =
} else if |
if (nl1[i] !=
nli{i] = g
far (j=0; <M
if (s[i]l 08
nlfi}-=7 L .
nol(ji-11 = 1: & i : Wi-1);
]
J
for (i=j=0; &M
if (noli] )N#
getout ( ik
jt++: T
} i 4
Xw = xw - F+ M tInput

“ﬁﬂﬂ’mﬂﬂﬁwmﬂ’i
’QW’mﬂﬂ‘iﬂJlWWmmﬁﬂ



int iinsert(int col)

[
int i = xbuffer-1:
if (s[col][xbuffer-1]) return 1;
p fy o [slco]][D]} [ // Have buffer

for (: !s[colllil: i--):
if (bleol] MaxInput+1} // Low priority

for (: MaxInput < sl[eoll[il; i--)
s[col]l[i+1] = s[col]l[i];
s[col] [i+1l] = b[cn i |
] else 1 huf fer
s[col] [0] = b[-\ UL )
return 0;
]

ﬂ‘HEI’JVIEWIiW BN
ammmmumwmaa



)

int insertbl()
{
int i,j.x[MaxInput]:
for (i=0; i<MaxInput; i++) |
bl[i] = rand() % MaxInput + MaxInput+l:
l x[i] = 0;
for (i=MaxHigh; 0<i; ) |
j = rand() % MaxInputg;
if ('x[j1) | 1}
x[i] = 1;
b[j]l = blj]
: R
J
; (
for (i=0; i<MaxLaphs
if (iinsert(i
printf("Lost
lo++;
|

return 0;

n",i+1,b(il);
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int sow()
{
ipt Ak
for (i=0; i<xbuffer; i++) |
for (j=0; j<MaxInput; j++)
printf(” %3d4d".s[jl[i]};
printf("\n");
]
printf{"\n\n");
return 0;
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Tnid inif()

8=1; wa = xw = 0;

int i,3;

srand( (unsigned) time(&t));

for (i=0: i<MaxInput; i++) |
b[i] = w[i] = 0;
for (j=0; j<xbuffer; j++)

s[i][i] = 0; _

!

¢
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